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1. Given vectors W, = [1,2,3,—1], Wy = [-2, -3, —5,1] and w3 = [—1, -3, —4,2].
(a) Determine whether the vectors {1, W, w3} form a basis for the sp(w1, Wa, w3). ( Yes /[No|)
(b) Determine whether the vectors {w1, wWs} form a basis for the sp(wy, Ws). s|/ No)

(¢) Determine whether the vectors {0, W3} form a basis for the sp(w1, Ws). ;| / No )

(d) Is {Wy, Wo, W3} a linear independent set? ( Yes / ).
(e) Is {wy, Wo} a linear independent set?? ( /No) .

(f) Is {w,, w3} a linear independent set?? ( / No )
ps. sLfFE/NEEDFGIER !!

Solution :
1-6 example 5 (FIRENEF)
(1)
2 -3 -3 0 1 -1 0 1 —1
3 -5 —4| 7o 0 0 0 0 0 | Sincenot every column has piovts, (a)(d) is NO!
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(2)
I =2 1 -2 10
2 =3 0 1 0 1
~ ~ 1 . . ) iy
3 =5 0 0 0 ol Since every column has piovts, (b)(e) is yes!
-1 1 0 0 0 0
(3)
1 -1 1 -1 10
2 =3 0 -1 0 1 |
~ ~ 1 " ; . \ . |
3 _4 0 0 0 ol Since every column has piovts, (c)(f) is yes!
-1 2 0 0 0 0
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2. Let 171, Ug,’l?g) be vectors in R™. Prove that 1_0’1 = 2?1 + 3?2,@2 = Ug - 2?3 and wg =
— — .
—v1 — 3v3 are linearly dependent.

Solution :
2-1 #31

Since
—> —> —> g
wy, — 3wy + 2w3 = 0,

we know that {w;, Wy, W3} is a linearly dependent set.
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